Lecture 2A 10-03-07 October 03, 2007

Reminders 10-03-07:

-Next Homework Due 10/41!!

-Force Conceptual Questions Due Wed. 10/3.
-Work Worksheet due Wed 10/10.
-Conceptual Quiz Wed. 10710, Work & Energy.
-Late Lab Policy; Dry Labs

Objectives:

-Go over Monday's Quiz
-Work and Energy

Aug 26-10:24 PM
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Lecture 2A 10-03-07

October 03, 2007

Physics 2A Old Exams

- Dominic Calabrese -

Exams

Exam 1
Exam 2
Exam 3
Exam 4
Exam 4 Another Sample
Final Exam

Mote: The above sample exams were used in class
periods that were 50 minutes in length.

Exam 1 Crib Sheet
Exam 2 Crib Sheat
Exam 3 Crib Sheat
Exam 4 Crib Shaet
Final Exam Crib Sheet

Sep 9-10:58 PM

Phone: (916) 769-296(
e-mail;
deatabrese @siemacoliege. e
Office location: S-107)
Office hours:TBA, or b
appaintrment

| Resources | Phys Dept | Sierra
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Work Worksheet

Turn this worksheet in at the beginning of the next lectura.
1. You applya 10.0N force on a 1.0 kg book as shown
a. Using the definition of work, calculate the work done by the 10.0N force over a distance of 0.50m.
10.0

b. Using the definition of work, calculate the work done by the gravity over a distance of 0.50m.

c. Using the definition of work, calculate the work done by the normal force over a distance of 0.50m.

2. Suppose you lift up a 2.0kg book at a constant speed through a distance of 0.76m.
a. What is the work done by gravity?

b. What is the work that you do in lifting the book?

3. A string Istied to a 0.50 rock and whirled in a horizontal circular path. If the tension in the string is
40.0M, what is the work done by the string (remember, use the definition of work)?

4. A 1.0kg block is given a push so that it slides up a frictionless hill. The incline of the hill is 152,
a. Using the definition of work, what is the work done by gravity after it slides 0.50m up the hill? What
does this value imply about its change in speed?

b. Suppose it heads down the hill. Using the definition of work, what is the work done by gravity after
it slides 0.25m down the hill? What does this value imply about its change in speed?

Oct 3-6:59 AM
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Your team of furniture movers wishes to load a truck
using a ramp from the ground to the back entrance of
the truck. A worker claims that less work would be
required to load the truck if the length of the ramp
were increased since it reduces the angle it makes wit
the horizontal. The ramp helps because

A. the work is the same but the force decreases.

B. the work increases but the force stays the same.
C. the work decreases but the force increases.

D. the work is the same but the force increases.

E. the work decreases and the force decreases.

V\e,c)nam;&.Q “&V"‘\‘)‘ - %

Sep 30-9:01 PM



Lecture 2A 10-03-07 October 03, 2007

e Suppose a horse pulls a cart with a force
of 400 N. What is the work done on the
cart after it has traveled 11 m in 5

seconds.

Sep 30-9:01 PM
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WVarious similar boxes are being pushed for 10 m across a floor by a horizontal force as shown below. The
weights of the boxes and the applied horizontal force for each case are given in the indicated figures. The
frictional force is 20% of the weight of the box (g = 10 N/kg).

Rank the change in kinetic energy for each box from the greatest change in kinetic energy to the least
change in kinetic energy. All boxes have an initial velocity of +10 m/s { + direction is to the right and - to
the left, with —4 < -2).
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Example

* A 5.0 kg block slides 2.5 m down a
wedge (u=0.2)? What is the work done
by the net force on the object? What is
the change in the object’s KE?
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